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SECTION A - MATHEMATICS

a3y e o s 3 dva 7 st L 6, 2, 7, 4, 3 3 W A

T AN ST s T S e
Find the difference between the greatest and the least number that can be
written using the digits &, 2, 7, 4. 3 each only once.

(a) 52065 (b) 53866 (c) 52956 (d) 52850

S T W P ATEt o S & SanT 3% 5980 x 428 W WA
A

Estimate the product 5380 = 428 by rounding off each number to the nearest
hundreds:

{a) 236000 (b} 240000 () 2400000 {d} 3000000

st 3, 4. 5 % T A § 3 3o T A . 2400 ¥ SR T AU E
Three numbers are in the ratio of 3: 4: 5 and their L.C.M. is 2400. Their H.C-F. ia

(a) 120 (b} 60 (c) BO (d) 40

5

Arer e e 3 25 7v5 TRl & Tt 100 7 B ﬁﬁﬂrﬂmmﬂ;
| T e R T

5

Laela reads 25 pages of & book containing 100 pages. Lalila read 5 of the same
bock. Who read less and by how much?

(@) Leela, 15 pages {b) Lakta, 15pages
(e} Leala 20pages {d) Lalita, 20pages
YB6I5 _, 14

11
(T X "ﬁ] formr & T/ ls equal lo

i@} b b1 & fc) 8 d) 11
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Naveen bought 3 m 20 cm cloth for his shirtand 2 m S cm cloth for his trousers
Find the tatal langth of cloth bought by him.
{a) 57m {b) 5.25m (e} 4.25m {d) 5.00m

3, 4 317 0 7 & [ T WY UEEE (TR ) R
The least common multiple of 3. 4 and B is
{a) 36 (b) 12 {c) 27 (d) 45

v w5 52 # 240 el | by e @ v e g am s b we gl
1 = W e A & A, g R e 3 amr el i 7

An aeroplane covers a certain distance at a speed of 240 km/h in 5 hours. To
cover the same distance in 1 Ehu-ur'i. it must travel at a speed of 7

{a} 300km/h (b} 380km/h (c) B0Ckm/h {d) 720km/n

‘A 16 Rt A 2 R o weEt & v ted O Taow e B i B 12 Rt ad
F1 HT TEAT B 'CFY AEE W I 4 B A e g e T e e
froer faat o T v W 2

"A' can lay railway track between two given stations in 18 days and 'B' can do the
same job in 12 days. With the help of 'C', they did the job in 4 days only. Then,
‘C"alone can do the job in how many days ?

1 2 3 s
i T o5 " © 5" @75 "
HIHT A, I & Fed Feor B wwm A g\
wEm M amad ¥ et @t o dww & e owh py
gTerat Y Huar w FeE A R

In the figure, find the ratio of Number of triangles to the | () <8 @

number of circles inside the rectangle and Number of
squares to all the figures inside the rectangle.

iz 32 12
(a2 7 by 7 @7 (@32
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m.ﬂgﬁmmﬂwmwhmﬁmhﬁmmmm#ﬁ

T F H ETT e ¥ e e 9 =1 g R e
Ram, Rahul and Rohit shared a bag of marties. The bag contained 272 marbles,
menmetwawnmmmmmdasmmm equally?

(a) 90 b)) 91 ey (d) 2

4 et i B S 60 TR 1260 F 7 fireret eyl o T E7

Cost of 4 dozens of bananas is Rs 60, How many bananas can be purchased for
Rs 12.507

(a) 10 (k) 15 (c) 12 (d)18

wmﬁmaﬁmﬁmmmzﬁmtmﬂ“mﬂﬂmﬁ 15
W!LW*MM*MWWHW1

The average weight of 16 boys in a class s mﬂﬁkgmlhﬂufﬂmmﬂnlnq!
boys is 45,15 kg. Find u'mmmguwainﬂ'ﬂnlnlmmfnmdm.

{a) 47.55kg {b) 48kg (=) 48.55kg {d) 49.25kg

#3 U HGAER 9 mmmzmﬂmmmmmzm
#1 A 20 At § & T # ey &) e o gl @@ e § 3 e
2, mﬁdtﬁiﬂﬂrtmﬁqﬁzm@rm#ﬂwh

Manju runs around a rectangular park af length 35m and breadth 20m. Meanu

Tuns mmdanqunm'pmhdmanm.wm covers less distance and by how
much, if Meenu takes 4 rounds and Maniju takes 3 rounds camplately.

{a) Meanu, 150m {b) Manju,120m {c) Manju,150m {d) Meenu,120m

wﬂhw@#m#t.mﬁhﬁ@t#mmt

ﬁmﬁﬁﬂﬂﬁmw'ﬂﬂmﬂmmﬁ .

A photo frame is in the shape of a quadrilateral with one diagonal longer than th
athar. Which of the following is the possible shape of the pholo frame?

{a) Square (b} Rectangle
{¢) Rhombus (d] None of these
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21.

i #.-F i g

e AR g Aey 31T S SeaniE & s g e E
The preduct of a non-zero whole number and its successor is always:
{a} Divisible by 3 {b} An odd number

{z) A prime number {d) An even number

i T & FE A 0% Y 2T § T 4016 25 7 ST s &t &, vfiaardy

A sum felched a total simple intarest of Rs. 4016.25 at the rate of 8 % in 5 years.
What i= tha sum?

(8) Rs 4482 {b) Rs BO32 (c) Re 8800 (d) Rs.8925

F T W 6 A R &, A wlt & gt & & & S Ak
Find the angle measure batweean Mharhd:uftrudwwhanﬂmﬂumuFM

{a) 90° (bj45" (c)180* {dj27o"

6 3t Y woR R T M A W

Find the valume of a cube of side Bem

{a) 216cm’ (b} 38em* ic) 7T2em? {d) 108cm®
T st COMOOLIXK =t st afw o -

Wiite Roman numeral COXXXIX in Arabic numeral

{a) 439 {b) 449 (c} 529 (d) 539

2 waril # AT 1296 1 AR v e gEd F 16 I b o8 Fwa e
e

The product of bwo numbers is 1296, If one number is 18 times the other, find tha
smafller number.

(a) 12 (b6 (c)4 (d) 9
Ll #Mmmmwrgmmlrwmmmmh

The measure of an angle iséuf B0, What & the measure of its complementary
angia?

{a} 30° (b) 80" {c) 45 (d) 20
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28

5,875 30 1.327 F A H 8,362 N 7 042 ¥ Hew w1 @I

Subtract the difference of 8.362 and 7.842 from the sum of 5.675 and 1.327

(a} .582 (b} 4,348 () 3.982 (d) 4384
| em 4 em
stmpfer By affy s PG
Find the perimeter of the figure o E-:“m”m
4em E = |E
Lt
(a) 51 em 2em] &0 3
(b) 62 cm Tem &l [Zem
(c) 53 em L 8 ™
(d) 54 cm | cim B
j 4¢cm 1 em

T 450 £ 7 & Fv frmer mRT w9 65T T A ufoed 45% M d
A 98 8o & faey '

How much time will it take for an amount of Rs. 450 fo yleld Rs. 81 as interest at
4.5% per annum of simple interest? :

{a) 3 years (B} 4 years {c} 6 years (d} 5 years

v P &, afy qE ST OFd WO & 2 9 3 AT W oEs S d
3 I #1 P iR W AT AT

In a triangle, If the second angle is 2 times the first angle and the third angle is 3
timias the first angle, find the angles of the triangle.

{a) 30°, B0°, 90*  (b) 15, 30" 45" (c)45° 45°. 00  (d) 20°, 40", 1207
o gt 1 B 616 A9 ? B sw s A (1= T
The area of a circle is 616cm”, Find its diameter,

{a) 2Bom (b} 14cm {c) 56cm {d) 32cm
=9 53,016 % 24 3 = & = srevew A e :
Find the guotient when 5§3.016 is divided by 24.

(a) 2,28 {b) 2 208 (c) 2.292 (d) 2.028
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3

o v 1 g e o et i fve it o et el vt s e b
A'rectangular path of 60m length and 3m width is covered by square tiles of side
25cm. Find the number of tiles used o make this path?

{a) 2260 (b} 1440 {c) 2880 (d) 1200

475 + 950 7 64 % = 900 + A, A A ¥ FE O Fie @ w7
Vihat |s the valueof A In 475 +B4% of 950 = 900 + A

() 183 (b) 233 () 1883  (d) None of the ebove/ 9 # #§

D1, 2N 720 W ARESS HHTEHE g 7
What will ba HEF of 216, 288 and 7207

a) 12 (b) 24 {c) B4 (d) 72

Fdge ot (106 X 106 - 94 x 94) = 7
Solve (108 X 106 — 54 X 84) = 7

{8} 2400 (b) 2000 ({c) 1904 (d} 1906

el FET T 600 % 70% w7 2 el et w320 Wiy g & oaw

wE AT e
It £ of 70% of 800 when subtracted from a number is 320, what is the number ?
(8) 300 (b) 60D (¢) 720 (d) 500

v FEEE s 15007 WhEHT Rs, 1650 3 F=7 an | SRR 07 @ E 7
A mobile-phona is soid for Rs. 1650 after purchasing it for Rs. 1500, What is the
parcentage of profit 7

@ 10 (15 {0 20 (4 18
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mmmmﬁfﬁzﬁm&#wm#mﬂmm i
TP gt te & o @ P A & e 22 3w s Pev | gRY WER
wmmmmmm?

mmﬁmmﬂufmmmammmwmé-uuulnms.mmamn

test of same weighlage he got 22 marks. What perceniage of marks did he get
maore in the second test 7

(a) 4% (b) 8% {c) 16% (d) Mone of the above
mmwmwhmmﬂhmmmmﬂ;
g ?

Average of 20 results is 18. H3is subtracted from each result, then what will be
the naw average?

{8y & by 15 ic) 16 (&) 17
L5
A FiEa) Solve 1-L§i
2413
3
33
@ 7 ® 5 ©yx Oz

mw.umam‘ms%mﬁmmt,mms
\F 000875 is divided by 15, then quotient is:

(ay 6.0045 {b) 6.0450 (c] 60.0450 (d) 0.6045

i A AR AR EE 7
How many seconds are there in 24 hours?

) 30 ib) 60 () 3600  (d) BE40D



F 4o JTOBO S 121 o0 AW & /valueis
(a) 3 (RE! fe) 33 (d) 53

a1 o PR ABCH FT AB A C R Ix, Sx FAT Bx+4g) At el o
& #7= A e

If angles A, B and C in a triangle ABC are 3x, Gx and Bx+4 respectivaly, then
find all the three anghkes.

(a) 335582 (b) 70,75.35 {c) 90, 76,15 {d) 90,85,100
41 37800 = AT :g:mn‘: For k?
Whiat are Prime factors of 37800 7

(@l ZXZXINAXSKEKTXT
b 2x2%2x3XIKINSABNT
e} BX2TA25XT

4] 2x4x25%27x7

4% (10%of 3.75 + 1506 of 7.25) Yz & afrafta wl | convert into decimal
{a) 14625 (b} 14.625 {c) 1.40652 (d) 14,652

44 EWIEEe I AR a =t At O ot 2 A e
\Which sequence carrectly matches these angles wilh their measures.

g L m ka_ M N

() (0 v () (b)), ()
= U R RO AL (d) (i) (0.0
45 How e s §, af A A veR E, A b & R A S E |

| am & prime numier. 1Tyauauhlmdzﬁ‘mﬂm.1hammdhﬁilhhnﬂ

@ 20 ) 1® @ N @ A
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47

48

48

Hame of the clty Temperature st 3 AM (°C) | Tomporaturs at 3 PM (G}
Chennai 211 299
Mumbai - 190 R
| Thiruvananthapuram | . 2156 305
Kolkats . 131 . o286
Bhopal 88 . 38
Srinagar 1.3 el 2|
Guwahati 128 C MR
Jaipur 102 232

P AT O AR 3 TN I A @ |

Which place had the highest temperature at 3 AM ?

{a}  Chennai (b} Thiruvananthapuram
{e)  Srinagar (dy dalpur

2t 3 T e Ay TEE A |

Which place is the coolesl ot 3 PM ?

{n) Kolkata {b)  Srinagar

ey Mumbai (d} Bhopal

ey 3 e, a3t e Al & PR it 2
How much higher is the temperature in Mumbai from that of Srinagar =t IPMY
@) 81 () 381 () 27 (d) 29

mﬁwmmwﬂaﬂ#m:ﬂﬂwmmm
SEETET | !

How many degrees will the temperature at 3 AM need to se ‘or it ta
reach 40 degrea celsius in Thiruvananthapuram

(8) 65 (b} 184 (¢} 216 {d) 335
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50 2 W - Y YT T A e wa L (3 @ e vd 2w
.

How much lower is the temperature of Kolkata fram that in Chennai at both
fimes (3 AM and 3 PM) 7

(a) 8%and33® (b) 3%anda’®
(cy 8%andd d) 33%and33’”

o S & wa o 3 = 87
@R - () T Ty
(e) e Y (@) FEE Hra

Black soil s also known as?

t[:;. Regur Soif ()  Red Sai
- Laterite’ S8il {d)  Mountain Soll

o o Fifey o g A g 7
(o) $ePiEsr . (b) el

L e R
PV Sindhu is sesociated with which sparts 7

(a)  Badminton (b}  Cricket
(e}  Football (d) Hockey
TR TR & SRTET S Y A Fh e
(&) ITETHAAE (b) Tedfrmmat
() e (d) TR

The Space Programme of Govt of India Is looked after by
{s) 1SBT () NTRO
{c] NABARD (d} I8RO
wrarer e uftetsr B W o

(@) wTEeRw {b) wETE

fe) i id) =l
Bhakranangal Projeet is bullt on the river 7

{@) Sutlej ' by  Mazhanadi

{e)  Gadavari (d) Cauwvery
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R&~m*mw#wﬂ*wmt-
(@) EET T A (b) W whit

fc) T T=TWE wdm (d) ww W E
Who is kriown as a ‘lron Man' of India 7

(a) Jawahar Lal Mehru (b}  Mahatma Gandhi

{c) Sardar Vallabhai Patel (d) Subhash Chandra Bose
e e ot s el w5 4

(a) Wt (o) fity

(c) AT (d) i

The longest river in South India is 7

@)  Mahanadi ib) Indus

(e} Saraswathi (d}y Godavari

fi w1 wEy F A & w-Tre we F w F = F w9 e
{a) WOA TF (b) W TE

(c) TwTE (d) et
Which planet s known as a morning star as well as evening star 7
(m) Mars (b} Venws {c) Mercury (d) Earth

T & W ey arits smis St wwee s st g s $

(a) wmEE T3 (b) ane@ 13

{c) amdr ge (d) —smeeE 1w

Which Article of constitution provides Indian Citizen ‘Right to Equality'?
{a)  Aticle 12 (b) Article 13

(e}  Artche 17 (d)  Aricle 14

T T et WU T R

(a) T {b) whey

{c) TRET {d) i dme

‘Margra’ nuclear power plant is located in the siale of 7

(@) Maharashira ib)  Tamil Nadu

() Uitar Pradash {d}  West Bengal
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81,

e 1 T e s A e A e

(@) =R @) ke ) & (@) wRER
Which of the lollowing dizeases spreads through contaminated food and water?
{a) Malaria (b) Cholera (¢} Dengue {d) Filara
i gt wr wre v e b

{a) wremEd i {b) s TR

(e) wamw W (dy it

Which is biggest desert in the Ward?

(a) Kathari Desert (b) Atakama Desert

(c) Sahara Desert (d) Gobi Desert

wrE - ity e B vy F e -

{a} T (b) oY TEW

(e} S wiw (d) whw Ty
Hmmnalﬁnalparthhuhdhhmﬂ?

{a)  Assam : Arunachal Pradash
(e}  Himachal Pradesh {d‘: Andhra Pradesh
A WA st A kY

(&) 3 {b) HETH ) e (d) s
‘Which af these grows from the mots?

(a) Potato  (b) Ginger (¢} Carrot  (d) Sweet Polato
AT =7 v o o W o - _

(a) srmelt (b} ufEmaE

(e) (@ f e
Sahyadris is also known as ?

(a)  Aravali {b) Westemn Ghats
fed  Himadri (d)  Eastern Ghats
g & st & apeant 3 wh R §

The gas filled in a weather balloons is
() Frafe Neon (b) frssf Hefium () 301w/ Argon  (d) SRS Oxygen



e adt w1 Wi JravaEe b
Growing children need more of

{a) fErEdz [ Carbohydrates
(b) T Vitamins

¢y W&/ Proleins
(d} =HT/Fats
R tr Az A s @ A gm I

Which gas is dissoived under pressure in soft drinks?
{a) e/ Ouygen b} e SIS / Carbon dioxide
(&) Fsgrae / Nitrogen {d)  FTEEIE / Hydrogen

it 3w e o e e avy A & ol B w5 S 57
Who ks the iowest ranked Air Force Officer among these? i

{a) T FATET AWing Commander
{b) 9 ¥ (Group Captain

{e] e HEE Flying officar
(dy e Az Flight leutenant

ety # # wte W T gy
Which of the following s a national festival?

{a) SHE /Baisakhi

(b) T A iRepublic day
ey  ufTe [Pongal

(d) TS EANChhath puja

=1 3 3 2 P o A sl qrrEn e
Dr. Amartya Sen won Nobel Prize in which field?

{a) w¥wET [Economics
(b) wifd Peace

()  THER TaAR/Chemistry
@y wfELiterature
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SRR v i R e e st AR e v v T

The imaginary line drawn half way between North Pole and South Pole is called
(a) == @ Mropic of Cancer

{b)  grer aFE Y [Equator

{e)  3mkfew adaEiActic Circle

d)  3ferRTEE FREAnarctic Circle

e @ st oW A

The largest Island in the world is
{a)  siEEfRwr jAustralia

(b) FeRE New Zealand
ey I=eEGreaniand

) HerfEsMozambique

v s wrat o vy, 2fivr & T fnr b

The coldest place in world, lying in the sauth frigid zone is
{a) dwTelE MGreenland

(b))  MErkBer fantarctica

{e) FEfrEAustralia
(d)  FsirifE New Zeatand
Tt A AR R R Ry

Who invented telephone in 18767

la} O mEH 4 Mlexander Graham Bell

(b} e feerfr Adames Hickey

fe)  AfFwE #Awie AGuglieimo Macron

(d) it #Logie Baird

I WY e e PRt & B e b :
‘Ghoomar is a popular folk dance of which of the fallowing states?
(@)  TETEUNT MRajasthan

(b)  Fe wEeMadhya Pradesh

{c) 38 Orissa

{d) 3w w3 /Uttar Pradesh
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5 G AG
{Only for those attempting English Language)

Read the following passage and answer the questions (Questions 76 to 80)

Midas, the king, was a greedy person. He loved gold more than anything in the
world. He had lots of weaith but he was fever really a happy person

The next moming Midas waoke up, and he had his golden touch. He touched his
bed, the chairs, doors, windows and all becama gold.

Suddenly. he felt vary hungry. He sat al the lable but as soon as ihe food
touched his ips, it tumed into gold. So did the water. It seemed he could no fonger eat
or drink. After some time, his taughter came to him, When he put his hand on her, sha
became a goid statue. In the end, Midas became very sad and prayed God Bacehus i
take away the golden toush from him,

T8, What kind of man was Midas?
{a) a greedy person (b} a great miser [z} a brave man (d} wise man

77, Who came to Midas one day?
(a) GodJesus (b) God Bacchus (¢} God Zeus {d) Gou

T8 Why did Bacohus offer him a gift?
{a) bacause he had helped God ones {b} because he had pleased Bacchus
(e} because he had annoyed Bacchus {d) because he cared for Bacehus

T8 What was Midas’ wish?
{a) To become rich {b) To tum anything into gold
(e} To turn his daughter a golden daoll (d) To become powerful

B0 Who tumed into gold statue whan Midas touched?
(a) daughter {b) son
{c} unche {d) aunt

Rearrange the following words/ phrases to make meaningful santences. Chosse
the correct sequence.
B1. it (a) life is (b)/ what we (c)f make (d)

{a) abcd (b} edab {c) dabe (d) beda

B2 gold (a)l is not (b glitters (c)/ all that (d)
{a) abed (f)odba  (c) dabe (d} deba
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83 playing (a)l in the (b)/ park (c) children are (d)

(&) abed {b) beda (c) dabe {d} cdab

Fill in the blanks with the appropriate option.

B4, Eitherwork hard _ give up studies.
{a) nor (b} or {c)and {d) but
85 He s afraid the dog.
{a}on i) of {e)in {d) by
88. He __ teaevery moming.
(@i drinks (b} is drinking (<) drank {d) drunk
87 The child has besn missing __ vestarday.
(a) for (b} of () by (d) since
ﬂn as directed.
John iemy __ brother (Find out the comect adjsctive)
(@) alder (b} bigger (cleold (d) young
BY, Frenchis _ easy language. (Select the comect article)
(a)a (by an (c} the {d)nene
80,  Ashok _ him yesterday. (Write the cormect farm of the verb)

{a) maeat {b) met {c) will mast  (d) Is mesting

Choose the most appropriate option.

L3

a2

a3

Which word means nearly the samea as ‘sulficient’?
(@) infinite (b) adequate (<) marry {d) surplus
Which word is the opposite of ‘simple’

(a) complex  (b)easy {c)obey (d) show

A list of books in a library
(a) menalegue (b} dialogue (c) catalogue (d) diary

Find the feminine gender of 'horse’

{a) mare (b} doe (c) ewa  (d) ram

Choosa the ward which means the opposite of 'RISE”

(a) fall {b) smooth {c} pride {d} rash

Choose the word which means same a5 'GRIEF'.
(8) cheerful (b} somow e} happy {d) injury
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97.  One who does not believe in existence of God

(g} theist (b} pacifist {c) asoetic {d) “atheist
98, The match has been postponed it has been raining oulside. (Supply
Caonjunction)
(8] =0 (b} because (&) therefore (d} and
§9.  Thisis the bay parents have died. (Supply corract Pranoun)
{a) whose (b} wha (c)whom {cl} his
100. He doesn't help the poor, 7 (Use Quastion Tag)
{n) did he {b)does he (c) doesn't he (e} do ha
M. T - T
{#ﬁﬁwﬂ‘hﬂuwtm
oy & sk Ry e ¥ @ aRe Beee g i
TE W O TR

(a) swwim  (p)gawiw (o) Fufr {d) Fwite

e = & v wft Bafianis = (Reen) & @ fif
77. T
{a) T (b) {7 (o) MIFTET  (d)THET

e i et & Foe it wif-fed (e & e i
78, T
la} WE+EA (b} tmeEER (g) T+otaw  (d) werede

T i wrsaf oF wges awwl & wft R = o Fif
78. WA
(a) 7 ) = EwE @ w

o% v & st By Bt F i aftw Ree g7
B0 T whe- we cmr e et ool v
(8) W (b)Tw i) W= {d) wmt

81, EuGr e e e
{a) Rt {b) Rt (o) Frtwft  (d) s



for el /e T ¥ g Ry At ¥ e = g T

62 ¥ witar & A E
(a) Ty ib) sw=feE () TWEE (d) wnien

B3, mmnﬂ'mqwtmmwmwwmﬁ.mt
fom o Wt g & ot
=w /R www ) w-w
A B ] D

{a) DCBA (b) CDAB (c)BDAC  (d) ADCB
84, U Ty wel & et Wi % e Bee @ R

{a) 2t b} R (o) il (d) wRfF
Tt v W & g s R ot
85. 3% v ST AR ce—— e

{a) B wnft (o) =y wndt ) Baweft  (d) e Wit
v & it Ry Rt F 3 2R Reww W e i

86, Fe F W whow wy carm w oot e o
(@) gl (o) wter (o) (o) wifEwdy

87 = § s-w v=m fede o mafenft 0 8 2
(a) #m b) ¥® (c)FEW  (d) T

Preafeflan sreds &) ergds wwee g9 g vt @ Pay wl Rwse P oe
HiEm-gs @ 92) ” ]

el & A # R wen w e~ o W | el e A elis i A o
w1 ) g S o o w4 od el e 8, R e we aw oo B v
5, 5 e, e, Ao, At el A s A ol o v W we @) go
e # v o P R, Ry A ¥ ol ol g @ e 4 ve aren = own) o @ o
WO A, s W Wl e, o el o e e, el ot o o W
advarpt emgn o #) dam @ gw www w1 Fee g st & fen @ wew @)
o & ool gl f e & oft orrewm T W @ g A g



"

are A wer w e ?
() T {b) wamdi (&) et {d) Frdy

T TR A T R 7
(g) dvme 3 (b) =i e 4 (c) wenget 3 (d) wrgait &

e v & T @ oy @l A v
{a) wrg T A {b) wETgEt 3 ) drm & (d) v A

g & o eerel @ wm W B 7
(@) durrrd b) i (c) (d) et

wrrd e & qeve & ufly SrTewE 9w T @ (oW e w87
(a) fimn b == e} smeat (d)

Prafafm e w1 =ifds wa qfm-

2

il
(o) W {b) (c) et (d) =

Preifefan o qRwn e 3-

a4

Tafiar W &1 agaee w9 #-
(@) e (b) fofd () Ferd {d) ferfem

et & IEE T o S
(a) g (by) Erserrame ¢} v (d) erare

Mﬂmﬂtﬁm—

affedt farmrn A

{a) 750 g He  (b) TEW SR w0 (c) WET T wen  (d) s e s
gr Al wEen

(&) = srEA {b) ==y @ ic) B =T (d) = F
araiv @ fog o) Ree g
an  wfE o A

fa) Fregamel (b) wheren {c) wriheredt {d) Friterr




’ n Class VI

i % 'E'_
1°] R

(@) mrrm  (b) s (c) et (d) faram
100 Wl W WA e e ) R gin-

(1) () e} (4)

101,

102

108

@i | gu-ga w1 awaw / Felv e # = Rl @
{a) 1238  [b) 2143 £y 2340  (d) 2403
mry - A gien ma 99

SECTION ‘D' ; INTELLIGENCE TEST

If CATTLE is related 1o HERD then SHEEP is related 1o
CATTLE & 5t et HERD 2 & & 330t oy SHEEP w7 #iny, i @ gam|

CATTLE : HERD = SHEEP : 7

{a) FLOCK (B} SWARM
(c) SHOAL (d) MOB

Choose the akernative that has the same relstionship to 09 as 07 has with 56
M & ol www swer A 07 wEw oW S ¥Ew 56 & Wy b, S =0 & ww o 09
wom & fw 7 v oy R e Tt o o adw o s men e g |

07 ; 56 200 7

{a) 54 (&) &1 £} T2 (d) %9

Choose the alternative that will continue the number series below:-
T P gt o A A e weat doen 9 gk Y )

5 11, 97, 23, ¥

B H @ 2= e} 28 {dy 38



105.

106,

107,

108,

M you fold the transpovent paper along the dotted line i Figure X* which
altemative figure from A, B, € and D woukd you ger?
= vl vy e st m#m#mwwmawﬁmmﬁmm
MEE A, B, C A D e g 7

X

Chioose the word which |5 feast like the other wm-lu'ln he group.

NI M N

{a) A

(b} B s C

wmﬂqﬁimqﬂmtuﬁﬂhmmi

{a) BAKE

(b)

PEEL =] E‘FW !

(W) ROAST

Which of ihe fallowing disgrams ivdicata the best refation between Imdiz, Hagrana and

Warld?

ot R aor fw & & ot o S e, prown @ P & ofar an Fo o et Br

00 P16 ©

()

(b}

{ey

d)

Choose the word which is least fike the other words in the group,
R WA gE v & owmy A Al e |

(8} VIRGO

b}

PISCES (e} CAMNCER

(d) ORION

If STATEMENT 5 coded as TNEMETATS then POLITICAL wil be coded as
HT STATEMENT &1 TNEMETATS Toren e o POLITICAL ) 83 Fvar zmom 7

(&)

LACITILOP

LCATILIOR (¢} OPILITACL

(d) LACITIPOL



165, Figure X' s embedded in any one of the four altemative figures A, B, C or D.
Find the altemative which contains figure % as s part,
A Ry a0 W A, B, € 3 DS & Rl v fiwew & sz X
mmw:pwmwwﬁm“mnm;tn

EG R g A

L

I *A* means add, ‘B’ means sublract, 'C* means mulliply and ‘D" means divide,
then what waoild be the answer of the equaion?
T CANEY T F A, B A e i, G )
FIEAT 0, 774 A avd sriveror # ww wE g

(L)

FHEML.B.G,DBMEMBMW.
nmc.mummmmmmmm
mmThmmmmﬂmbumaenﬂarpdh%umﬂ

mmﬁ,ﬂ.ﬂ.umsmmutsm
ST XX W) Ry e gie 2 o wd AW st T E A o A e wE & g
mwh-#ﬁaﬂﬁamhtm#ﬂﬂrﬁm #air 3 A swman e o

B B

MmmmmmmEﬂmmpmwn‘ﬂ
A & T s A 12 W W 168 & wo ¥k, Sw
ﬂwt!ﬂv"rmwmwm#nmmm arr e gy 7

(b} 256

TV S SN, AU D Y S
WwWDEC2ZAL=

The one who reads first gives
A E was not the first or fast

tha newspapar

HAAH SES e A ¢ g O &

T & e oy 16



113

114,

115

116,

117,

118

24 Class W1

W you fold the transparent paper along the dotted fine Flgura % which
alternative figure would you get?

ofes ol 4wy o7 @ X' SR W R Yo % wum o A o A e R T R
B gl & s et 7

X (a) (b} ] L

if-in & cerain code DEAF i8 written as 3587 and FILE s written as 7485 then
IDEAL will be written as?

#w DEAF ® 3587 T s & 30T FILE % 7485 Ty svn & a9 IDEAL T4
Foam sy

[a) 43568 {b) 43538 {c} 63548 {d) 43536

Choosa the word which i3 least like the other wards in the group.
A S g S gy ved & e A e ol w |
(a) PLASTIC (&) WoOOL e} PAPER (d) wooo

I!wnumwmsm“wdsinmpmmmnmiwhﬁwdwmal
last place, choose the corect alternative?

W R Aot @ SN W & WA & SRR wEOr S A A A e ety
P O MO

(8) ROBBER {b) RANDOM {c} RESTRICT ([d) RESTAURANT

Choose the alternative that will continue the number series below:-
mﬁmwynmammmnwm

11, 13, 17, 19, 23, 25. 7
(a) 27 by 29 (e} 31 (d} 233

Choose the comect allemative that has the same relation to BMJ as HSY |5 io
EPV
7w =t OF G ot den BMU & F oh aw HSY & EPV B B
BMJ : 7 . : EPV: HBY
{a) DAM b) YiG {c} EPM (d) EON




R - 5 Claas VI

18 Which of the following diagrams indicates the best relation between Flower,
Lotus and Rose?
oAt R v o o 2 afer oy v o v e g e s o S w el g

@ ©0 ap (9

{a) ¥ 1] (-] )
130, Choose the alernative that has the same relationship to 11 as 49 has with 07

et & aveht s # 07 R ST T 49 & aner ¥, S 3 & U o 1
& fAv 7 7w o RRw o et & 3wt o wea aren Reew g 7
o7 ;49211 07
fa) 1 {by 90 c) 81 {dy 11
121, Choose the word which s least like the other words in the group:
w8 e w oot S gt e=d & owEE & A Al e |

(s} GREEN () PINK () INDIGO  (d) VIOLET

122. Il X is the brother of the son of ¥'s son, how is X related to Y7
R Y FEksRaah @A X wmY dendEul 7
{a) San (b Brother  (c) Grandsan (@) Cousin

123, Area of rectangle is 48m”.If the Jength is 8 m then breadth =
TaTE w1 S 48 T et | fE el e e ier bt Rt
8 1Em (b} 6 m (c) 10 m {d} am

124, The priest told the devotes, "The temple bell is rung at regular intervals of 45 minutes.
Thie last bell was rung 5 minutes-ago. The next bell is due to be rung at 7:45 AM* At
wivat time did the priest give this information to the devotea?

TR A W @ unh 45 B ¥ Pl s o s o 8, Rod
T PR OER WAl At o |, sordt 6f qEE & bowe e gt s, gnd 3
g e e a2

ia) 00 AM {By 705 AM (g) &55 AM (d) 740 AM



| 125, thmﬂmmumdaﬁmunumamwmumm
| so% MBS # ODU frar v 1 BRL &4 o ST
li. () DTN (b) OUN f&) CSM @ CTN

———



SECTION D
INTELLIGENCE TEST

No.
102
103
104
105
106
107
108
108
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125

101

SECTION B GENERAL
KNOWLEDGE

83
55
&7
63
B5
87
B9
o
T4
75

SECTION C LANGUAGE

7% b

0
L]

b

oo

82 |d|
i
80
L]

1893

LI

No.
10
11
12
13
14
15
16
17
18
18
21
22
23
25

28
29
a1

37
41

gl5ie

49
50
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